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Please note that this question paper contains 24 questions.

All questions are compulsory however; internal choice is given in some questions.
Question no. 1 to 4 and 13 to 16 are very short answer type or multiple choice
questions (MCQ) carrying one (1) mark each.

Question no. 5to 6 and 17 to 18 are short answer type questions carrying three (3)
marks each. Answer to these questions should not exceed 60 words.

Question no. 7 to 9 and 19 to 21 are also short answer type questions carrying four
(4) marks each. Answer to these questions should not exceed 70 words.

Question no. 10 to 12 and 22 to 24 are long answer type questions carrying six (6)
marks each. Answer to these questions should not exceed 100 words.

Answers should be brief and to the point and the above word limits should be
adhered to as far as possible.

Page 1 of 6



©s — 37 / Section - A

Q.NO QUESTION MARKS
RIS 6T Tole T JATIEAT H 3UlG AU &FATT I AT g PR J AR
Golel AISIATT Y& T § sHb TRUTHATIEY, Scure @mam sream:

(37)PPC & 37X e fig W (T)PPC Fr 3w REEGRY

1 (F)PPC & i &1 3R dcelra (€)PPC W T fig W 1
Production in an economy is below its potential due to unemployment.
Government has started new employment generation schemes. As a result
of this, the production will be shown:

(A) At a point inside the PPC (B) upward shift of the PPC
(C) Downward shift of the PPC (D) On a point on PPC
frafat@a & @ #la @ @@ a8 2
(31) SEIETAT @5h RUMcHAD BTl dlell 3N Hel deg & Seelale Bl &
() 3T SEAAT T 3T TR DI P B gAfar §
(&) & 3SRl ash Teh GEv T ol I A& e &
5 | @ sRE F ¥ B o )
Which among the following is not true?
(A) Indifference Curve is negative sloped to the right and convex to the
origin
(B) Higher IC shows higher level of satisfaction
(C) Two IC never intersect each other
(D) None of the above
3 golex@r &l gRATRT HifFy | )
" | Define a budget line.
4 | T TE P AT IS P PHATIIN? 1
" | When is the demand for a good said to be inelastic?
c HITTEAT T Feg [T FHAEAT * 3cUGA FIT AT & DN FASSY| 3
' Explain the Central Problem of an economy “"What to Produce”.
Dol HUTH TUT WATed HUTHA & FFed Bl TIE D]
Explain the relationship between Total revenue and marginal revenue?
Ydar OR
A & g arer gfd g Ty |
o | () dEr o 3
' (i) 3HAE & WeR dkger gid
(iii) Jeraex gia

Draw supply curves showing :
(i) Elastic supply

(ii) Unitary elastic supply

(iii) Inelastic supply
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SUHRHT &1 GEG3T X TUT Y A 3UANT &l & | X Ju1 Y & @A suafa
ShAA: 3 T 4 §| X AT Y &N HAT 4 ¥| FAT SUHRD oA H HqeqT H § ?
SUHIRT T 31T Fr gfdehar w1 geft 2 dRUT adsd |

A consumer consumes only two goods X and Y. Marginal utilities of X and Y
are 3 and 4 respectively. Prices of X and Y are ¥ 4 per unit each. Is
consumer in equilibrium? What will be further reaction of the consumer?

7. Give reasons 4
Ydar OR

aEg AT T30 Ufd SHE YT W aEG B AT 200 FHE T | g€ P HAT A
20% T B U IHHT ANT 100 ¢ S & | aFg I AT & T A1 iy |
At a price of ¥ 30 per unit, the quantity demanded of a commodity is 200
units. If its price falls by 20%, its quantity demanded rises by 100 units.
Calculate its price elasticity of demand.
Aeafof@a a9 T3 ¥ 31¥ar 39 | FROT Iasy |
(i) 3cUG & ¥ & A g D qY-ATY ATC JA1 AVC gedT § |
(i) WHAT T g8 W g Mad o gedt & |

8. 4
Giving reasons, state whether the following statements are true or false:
(i) The difference between ATC and AVC decreases with decrease
in the level of output.
(i) When Marginal cost rises, Average cost will also rise.

g |TEAH FA AT T §? SHd YA Id1C]| 4
What is minimum price ceiling (price-floor)? Explain its implications.
Th g€ & fou AT W AFAfAi@d & gHa @1 guie w:
(i) AT aEG3T & AHS H 3T A IS |

10. (i) TATAT a¥ & Hed # Prac] 6

Explain the effect of the following on demand for a good :
(i) Rise in income in cash of Normal Goods.
(ii) Fall in prices of Substitute Goods.
3cUIGeh HA (A1) &1 § 2 WAT AETH JUT AT T TRBIOT ¥ ScUIGeh
el (A1) & Adf Bl GHASTSY | 3IRE H T2y |
What is producer equilibrium? Explain the conditions of producer’s
equilibrium through the ‘marginal cost and marginal revenue’ approach.
Use diagram.

11. 31Ydr OR 6

BH & I A AT SEahrl 8, WA et 3R WA I b AHS A

B & Teld Pl go | HROT W QT | Scued W A i A1d Hiod |
From the following information about a firm, find the firm’s equilibrium
output in terms of marginal cost and marginal revenue. Give reasons.
Also find profit at this output.
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Do Do
3curea0utput STTHE(TR) | FEETC)
1 6 7
2 12 13
3 18 17
4 24 23
5 30 31

ISR Tl (A1) 3raeAT A § | G A 991 qfd Qi # v @y gig & S
ar grEg HAT JAT AET G FAT YU TSIT 2 3RG Y Ja139 |

12. Market for a good is in equilibrium. What are the effects of simultaneous 6
increase in both demand and supply of that good on its equilibrium price
and quantity? Use diagram.
ds -9 / Section - B
ST e T Hed FAWET AGl iR A fagelt Agr & Gay # gg S1ar §, aF I8
s fufa &:
(31) HaT & Hed A FE(EE)  (|) T Hederd
13. | (@) AT AT () 3 | P gl 1
When domestic currency gain its value in relation to a foreign currency in
the international money market, it is a situation of:
(A) Currency appreciation (B) Currency depreciation
(C) Currency devaluation (D)None of these
MPS 3R 3[UTeh & dra HIY AT §?
(31) HPRIcHD () dPRIcHSD
14, | (H) RMdR (T) 39 q g o A9 1
What is the relationship between MPS and multiplier?
(A) Positive (B) Negative
(C) Constant (D) None of them
r Jcfesd RS & aRENaT Y| 1
" | Define involuntary unemployment.
16 facel afada ex o aRAT FY 1
" | Define foreign exchange rate.
AN ToIC & 32T & U A FHASNT " FHGAT Bl gd: AT |
Explain the "Reallocation of resources" as the objective of government
Budget.
17. 3Yar OR 3

THR & TolC & 39T & &7 H  "3NTp BRAT" & TS |

Explain the "Economic Stability" as the objective of government Budget.
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Golord onfadt & ear HfAUR 2 EXhR 1 gEherd wifddl & gcdh dld—dhld d &2

18. 3
What is meant by capital receipt? What are the components of capital
receipts of the government?
HRA & TET 3T Bl IHFATT o9 &b GRIA T HFATAET & Y HH Fdar
HLIT ?
(i) FomqR & 3uel "ol @ fAardr s g ura fem|
(i) are Disal @ & T Ferar |
How will you treat the following while estimating National product of India?
19. | (i) Rent received by resident Indian from his property in Singapore. 4
(ii) Financial help given to flood victims
31dr OR
ehel BXe] 3cUTG (GDP) &1 URHATRA e ThaT &2 & HedIoT & Fhich b &I A
SHSIUT T 3TN dHXaA dhl A3 P ford|
Define Gross Domestic Product (GDP). Write down the limitations of using
GDP as an index of welfare of a country.
T HITIEAT oA H & Aeafef@d a g ega & a1orer ol
(i) TET AT = T 800 IS
(i) @A TTd ugid = 0.3
50, | (il yEara SUANT = 2100 HS 4
An economy is in equilibrium. Calculate the Investment Expenditure from
the following :
(i) National Income= % 800 Crore
(ii) Marginal Propensity to Save=0.3
(iii) Autonomous Consumption=3 100 Crore
HITATA HJeled & dlef Wid JAT Yol Wid & & X FTIE Hifa |
21. | Distinguish between current account and capital account of balance of 4
payments.
25 aiftifsas do g1 A/ (FaT) Gold ha fhar ST 2 3eexor gRT FASSY | 6
" | How does commercial bank create money? Explain with an example.
HAERITS AT FAT 82 3ING H Acg F AT | 38 GURA & U Hdrg I
ERT AUATY STl dTel DI &I 3UTAT T Fiaid Joted P
What is ‘inflationary gap’? Explain with the help of diagram Write any two
measures taken by Central to correct it.
23, Ydar OR 6

AT IE GHG & b HqcgarAr  IQOT ASOIR Hded & ded Il @l 2 IRG &
Fee T THSM3T| QT ASHIR UTH il & foIT TRAR FIT 3T R bl & ?

Is it possible that the economy operates at under employment equilibrium?
Explain with the help of diagram. What roll can the government play to
achieve full employment?
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24.

fAeaferf@d 3nast &, THT 3T 6 70T Hi:

(i) 3T fafd
(i) =T fafa

From the following data, calculate National Income by:

(i) Income method
(ii) Expenditure method

Items X in
(Crore)
i AT Ud ddd 450
Wages and salaries
EI-USOR & fAIAT 3ma
i Mixed income of self-employed 400
" fash ifad suser <o 900
Private final consumption expenditure
" facer @ g PRSP (@TUe) I ()20
Net factor income from abroad
v g UTET P 100
Net indirect tax
vi eI oofl ST 120
Consumption of fixed capital
vi | 38 TN 240
Net domestic fixed capital formation
viii NrAERIC] (-)30
Net exports
ix | o 350
Profits
X 100
Rent
i <A 150
Interest
WERT 3AfddT TR @ (299)
Xii Government final consumption 450
expenditure
i Tl H dcerd 20
Change in stock
IGRIECARAREIE I EaR: et MR
Xiv Contribution to social security scheme by 50
employer
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